B0~/ N—5

B M R

WREI—K K 49350 . K 49351
i) I TRB2200WT - TRB2200WN

WPI—K  K49352 - K49353
it I  TCR2200WT - TCR2200WN

- BmCEN DR, HTEbmEtREilE CEE T,
- HASmO—BICE, T 2y NEFTEDHDEBRHGHDET

AF-=Rtkn\S



&

EGED TFEXIZDONT

P

1.% n CHEXOBRIZ, TRiHHEZ CERC10E

ﬂ an] %
i &'ﬁ (50

PO <
ukl-

MEBERHHARI K (IAPRERRIEE L UREICREH D
R—ALT L= MIRRLTOET,

2. FEEoEH -3, UToCEERLTED
9,

BNVAma\m&ﬁinfmémﬁw@_

el < 12 & D FB1g B,

D7y 4 RICEENBIWRT, BET
S U722 ViER .

BIESROBRBERICONT

C OEFE OB O GHRED 3.

- BIBITBUI0 R IFE TS, /2L BHRERANT

H-Td, BB TR &% %
IRTVWIEBE DD ET,

B O BRI LR DHHRER T
BT LE T2, HEFRBERTH > TH. &
HES D TEFED B - 1B I B L UK IC o
WTTHEKESE TR EE Y,



TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT
2P L—L, FO—/N

JE 2504 (CVE!-—O{RlI)/,

085-0030-1033
AHEES HEHES 0 T 23 %K 1% %
1 1338110004 2P7 v — ACP 1
2 131006200M e CP ; F30X125 1
3 BZ12045 AN 88 MI2X45 1
4 NNF12 75 vIF4uavty b Mi2 1
5 1301930004 uy—y vy 755y b 2
6 ONAG6 JY—=Z2=y I A M6 3
7 090678000M 7y Ve ; 30X4.5 2
8 000739000M YyvFEY 9 2
9 000006200M ay—yvsey;0, 1 2
10 WS22 NE¥EHFR 209 M22 2
11 NZ22150 F+w b 8 2= M22X1.50 2
12 1338171004 Fo—/3CP 1
13 BZ16040 A bd 88 MI16x40 6
14 WSA16 NERHFHER 3TY M6 6
15 NZ16 Fv b 8 2va M6 5
16 1317060004 A% v FCP 1
17 1032790004 F 4+ Z22CP 1
18 094865000M Y ;. B16 X80 1
19 044606200M 16 ¥R ~-bEV 1
20 PC032032 Yy 3.2X32 1
21 000739000M YyvFEY 9 2
22 PC050036 7YEY 5X36 1
23 068131000M = 1
24 1032770004 +w 4 — IWCP 1
25 ONCs1 S —-2=9w 7N C PTL/8 1




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200W
2P7U—L4, FO—NN

fEERBERI(CVa—Y {i'l)/

065-0030-1033
BHES| BRES & o % i) fE% 1
26 067426100M TS5y b 2
27 BZ12035 Kk 88 M12X35 2
28 130980100M YaA v hbYE~-ICP i
29 BSZ08030 agyERupr T M8X30 2
30 NSP08 AFIZATYVTFy b 4 M8 2
31 1338261004 Jy 7N — 1
32 1309831004 A 2 1
33 1338250004 BN — 1
34 067139100M Fa NV 2
35 BZ06020 FKr 8.8 M6X20 6
36 WRAO06 ESHHE M6 6
37 NSP06 RN IFy b M6 6
38 0006900000 =F1 ; M8X14 4
39 BSPZ08020 aFySWyFHNy T ME8X20 4
40 NNF12 75vVF4ovFy b M2 2
41 042783600M Ty Ve ;12 4
42 044097200M Ty ¥y ;8 4
50 0599695004 PICY 79 1
51 JCS207LLU 2=w baY~X7Y vsCS207LLU 1
52 ONB6 FY—=X=y 7N B M6 1
53 BZ14040 Fr 8.8 M14xX40 2
54 WSA14 NEHFEHFX 3T9 Ml4 2
55 NZ14 Fv b 8 2va M4 2
56 1338270004 VT bH 1




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT
P L—L, KO—iX

065-0030-1033
RHEES HRES B A % i B & £
57 074781000M 7w ¥y 35.5X45X2.3 1
58 DCO035 ChHsrv»xv7 Y7 3b 1
59 1302200006 YaAvhE ;MD 1
60 0008240000 PICH/N—; 2 1
61 0000963000 PIC* » v 7 :35 1
62 1338050000 Ny—Ya4 v+ WWE2380—-860 1
63 066672500M A K 1
64 DC020 ChH&b2Am Y7 20 1




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT

IND—=INy =2
19
14 15
|
065-0030-1034
REES| HBERET il o) % i %K i
1 [1350840000  [/¥7 =y r =9 ; 170R—2.0 1
2 [131268100M | 754 v hCP 1
3 | BSZ10025 IHSENE T MIOX2S 2
4 | WsA10 NEFHx 3Ty MIO 2
5 | NzI2 Fv b 8 2Va MI2 2
6 | WSAlL2 NEFHE 3TY MI2 2
7 | 042783600M | 7y v ¥ ;12 2
8 | 122615000M | A7 a4 v b ; 40X9T 1
9  |131275000M [ # 5 —;35.2X12 1
10 | 122614100M | 15— ; 14X6 1
i1 | B706016 AP 88 M6X16 1
12 | Wso6 NEXFHE 27D M6 1
13 [133816000M |7y v+ ;6.5XL6 1
14 | 1338280004 RF Tk oy b 5 40X42T 1
15 | TRK08025 6F 2 xV109 7K MBX25 2
16 | NSZ08 aASFub 8 2va M8 2
17 | LA40048 D—5F == 40X48L 1
18 | 1114650000 | BEHE—% 1
19 | 131764200M | £— % ~—xCP 1
20 | CP05016 +F~axY M5XI6 3
21 | W05 NEFHE 299 M5 3
22 | BSPZ08030 IASSWYFHELE T MBX30 2
23 [ 131267000M | b/x— 1
24 | BSZ08030 IAFHENE T MBX30 1
25 | NSZ08 aAHFub 8 2va M8 2

s
|




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT

IND—INy T—2
065-0030-1034
REES| HEE S ® & & B @ %
26 | KFB05050200 | ~1 39 ¥%— # % <I5X5X20 1
27 | DE0O6 EXS 27 6 1
28 | 132670000M A7 v 7 H2.3X11X95 1

30

AA040

U—5Fx—YU¥FF 4




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT

EyZ2U7J b
065-0030-1035

HHEE] BEE = R T {i%
1 1309863004 w217 bCP 1
2 071338000M h5—; 21 2
3 BZ16050 Kk 88 MI16X50 2
4 042322200M Jwv¥e ;16 4
5 WSA16 Nx¥Hx 39 M6 2
6 NZ16 Fv b 8 2va MI16 2
7 CK080003 VWY F = L=—vay8xX38P X3 2
8 SSC0930 Yvyw 2 9-3/8 4
9 |101781000M | U7 bmw2 CP 1
10 078612200M ATy VT 1
11 NNF10 75vVFrf4uarry b MO 1
12 WRA20 ESHHR M20 1
13 PC032032 7Yy 3.2X32 1
14 044606200M 16 4¥8—-rEV 1
15 000739000M JvFEEy ;9 1
16 0667842000 o—7; 8X6500 1




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT
Evyo7 v >

085-0030-1036
RiEs H¥RES e T % R e & %
1 1304990004 Ew 7w 77 1L—5CP 1
2 1305030004 4 F7L—+CP; L 1
3 1306430004 #+A4 F7>’LV—1FCP; R 1
4 BSPZ708020 aHZSWYEENVE T M8X20 6
5 BSPZ08025 IHTISWYFRLE T M8X25 2
6 094889200M A 2l 2
7 BSZ08012 aFyRIE T M8X12 4
8 WSA08 NEXHFEHF 3T M8 4
9 1050231004 w77 v 7 H/N—CP 1
10 0591440000 J'a Xy b 1
11 1181490000 =F1 ; M8 3
12 085222100M =575y Va 23
13 BSPZ08020 aFISWY R T M8X20 92
14 1050254004 74 vN—CP 4
15 0852240006 4 v 48
16 BSZ08055 aFyELE T M8X5BS 48
17 NNF08 75vVFfuarvFy b M8 48
18 044097200M Ty¥y ;8 48
19 JSBX0126LLU | 2=vw ba v ~x7 1 v/ SBX0126LLU 4
20 DC012 CHZ X7 YU 12 4
21 0792823004 A 1
22 BJ08020 #+35% %+ 7B 109 M8X20 4
23 BJ08035 ¥I5F»v 7B 109 M8X35 1
24 NSZ08 afyFyd 8 22 M8 5
25 WSAO08 NRFH X 3TY M8 5




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT
Evyo7v7

065-0030-1036

RHES HmEFS &R Hm % L} e (i
26 044097200M Ty ¥y ;8 1
27 1304440004 Vv 7 b 1
28 | PC050036 7YEY 5X36 1
29 | 057788100M ¥ A 1
30 130654000M A5 — ; 30.5X48 1
31 1032960004 §AVYTLV— b 2
32 1301860004 447 L—+CP; L 1
33 044098500M Ty ¥ey ;10 4
34 | BX10070 Fur 109 M10XT70 4
35 NNF10 73vVFALurry b MIO 4
36 WSA10 NRHFEHX 3Ty MIO 4
37 0640350000 FAOYTyVa 12
38 1032930000 7y ¥y ;43X3.2 12
39 065487000M YA 35X1.2 -
40 PC050056 7YyEY 5Xb6 12
41 085226100M 75T 1
42 | JPFL204G NAL75vY kY PFR04 1
43 JCS204LLU =y b3 Y~NTY Y FCS204LLU 1
44 BSPZ08025 aAHFISWyFFEILE T MBX25 2
45 | JPF206G NLT75vY <) PF6 2
46 JCS206LLU A=y ba3YNTY I CS26LLU 1
47 BSZ10030 aFyFENr T MIOX30 2
48 | WSA10 NRYHF 3Ty MI0 2
49 1304450004 Z7aky b ; 50—38T 1
50 | 093231100M 278y b 50X12T 1




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT

Evyo7 97
RHES| W4 E S B8 & % B W %
51 0734440000 VA -
52 081267000M Fvvava—35 CP 1
53 080925000M F v b 1
54 082660000M A5 — 1
55 BZ12045 Ak 88 MI12X4b 1
56 | WSAI12 NEHFHFR 3Ty MI2 1
57 | 042783600M Ty ¥y ;12 1
58 LA50064 O—5F 22— 5H0X64L 1
59 JPF206 NLT75vY =) PF206 4
60 JCS206L.LU 2=y b3BYNTY VI CS206LLU 2
61 BSZ10020 aFyEvy T MIOX20 6
62 WSAI10 NRHFEHE 3FY MIO 6
63 | NN16 FA4av+y b M6 3
64 0590442006 F4RT Ty ¥V 3
65 | 082708200M A7y I H 2
66 129736000M 27N VT RF— 2
67 NZ12 Fv b 8 2¥a Ml2 4
68 | 8016940004 7oy 7Hx—CP ; 2200 1
69 | 088724000M Ty ¥ 28X23 2
70 | 000088100M N—F v ;19X3 2
71 1306590004 zvFavFL—pCP; L 1
72 | 1306600004 TyFa971L—FCP; R 1
73 044097200M Ty ¥y ;8 4
74 NSP08 ANSATYVIFry b 4 M8 4
75 1306790004 FA —~WAF—CP 1
76 | 000738000M JYFEY ;6 1
77 PS050032 A7 ey 5X32 1
78 | ONAG6 7Y —RA=y 7V A M6 1
79 CAP040040 F vy 7 40X40X3.2 1
80 AA050 O—-5F 2 —YY¥5 50 1
81 BSZ08020 aFyENVE T MBX20 1
82 | 044097200M v Ve ;8 2
83 | NSP08 AHNSRTY)IF vy b 4 M8 1




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT
F—5

\

Jj i
Bg/
e i

065-0030-1037
REES| HoES B o % a3 fEE &

1 1306110004 R R

2 065487000M VA 3BX1.2

3 0709092000 Ty ¥ a 1
4 0432480010 Tz—=YV 7L —} 2
5 1306120004 75vFay s FL—t 1
6 043249201M I59FTVRAVRAT Y VT 6
7 044098500M Ty ¥y ;10 6
8 BSZ10060 aFyARnmr T MI0X60 6
9 1306080004 27 a%w FCP ; 50—38T 1
10 LA50111 o—5%F =—v 50XI111L 1
11 | 0812670000 FY¥ava—35CP 2
12 130446000M FYVavy7—5uCP 1
13 044214301M 7 v ¥ +25.5X1.0 —
14 DCO025 ChHobvxv Y7 25 1
15 DCO17 ChHsrvxv Yo 17 2
16 ONB6 FY—2=w 7 B M6 1
17 | 094631000M 27y 1
18 | 043341501M ATY VT AF— 1
19 | NZ12 F+v b 8 2va Mi2 2
20 1304580004 27aly b 50—17T 1
21 KFC10080400 N aYF— 1) aw=iL10X8X40 1
22 TRKO08025 6Fx%xY109 K3 M8X25 2
23 NSZ08 akyFy b 8 2Va M8 2
24 | 101902000M 735 v ; PF20T 2
25 JCS207LLU 2=y bIYNRT Y FCS20TLLU 1

I
—
[l

I



. .
TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT
F—5

RHES HRES #B H % i) 1 %
26 | BSZ10030 aFyFEnwk T MIOX30 3
27 | WSAI0 NEFHFR 3Ty MI0 3
28 1325910004 Yv 7 b 1
29 | JPF206G NA TS5 vV <) PF6 4
30 | JCS206LLU 1=y b3YNTY v FCS206LLU 2
31 BSZ10025 afFyEvd T MIOX25 6
32 | WSA10 NERYFHEX 3T M0 6
33 | NSZ10 aky+vy b 8 2va MIO 6
34 | 1050371004 A7 ey b 2T 2
35 | 0967561000 v 30.5X0.6 -
36 | 0590442006 TA4RI Ty ¥ 2
37 | NN16 FA4aviy b M6 2
38 | LA50053 2—35F x— bOXbH3L 2
39 105038100M Fv¥avT—ACP 2
40 | DC100 CHs b2y Y27 100 2
41 119235000M AFY vy A3EX14X30 2
42 | BAI08120 Rubr 46 ¥y M8XI120 2
43 | 079424000M TA—7 L VF ;8X32 2
44 | 079425000M vy 8X32 2
45 | 044097200M Ty¥y ;8 2
46 | NSZ08 akxsFry b 8 2¥a M8 6
47 1050410000 Fv¥aru—35CP 2
48 | DC012 CHyrx7 Y7 12 2
49 1050420004 A7 alry b5 16T 2
50 105043000M H5—;32.9%X19.5 1
51 105044000M A5 — ;32.9%X39.5 1
52 | 1325870004 A7 Y 2—CP; L 1
53 1325900004 A7 a2—CP; R 1
54 | J6307LLU R—x7Y s 6307TLLU 4
55 | DHC080 Chstx»xw 7+ 80 4
56 132592000M R g L=y 2
57 | 055474000M A XKLL 88 MBX20 4
58 | NSP08 AHIRTYVTFy b 4 M8 4
59 | AA0S0 U—5F2—VV¥FF 50 3
60 | AD050 F7®y by vy 50 3
61 NSZ10 aksFry b 8 2va MIO 3




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT

a—%
13514-1
065-0030-1038
RHES HHRES 0 i) % v fE%k #

1 1325940004 o —%CP 1

2 JCS309LLU 2= bIAYNRTY ¥ SCSI09LLU 2

3 1304800004 TS5 VY 1

4 1304810004 7V — b 1

5 0770931000 VA 1X55X45.5 -

6 BZ12065 R ph 8.8 MI12X65 4

7 WSA12 NR¥EHR 3T MI12 4

8 1050711004 75V 1

9 BZ12035 FIIVh 88 MI12X35 4

10 WSA12 NRFEHFR 39 Mi2 4

11 105072000M Fr—k 1

12 BSPZ08020 aHFISWYFENLE T M8X20 4

13 1304530004 A7 v FCP; 60—2X13T 1

14 1304561000 Yy —FRNV b FRIVYCP 1

15 130650000M H5—; 40X40 1

16 1018790000 Ty va 2

17 0988800000 v A 35.5X0.6 —

18 DC035 CH%bvxAw Y 3B 1

19 ONAS6 JN)—=2=w 7T A M6 1

20 0440284000 Ve —FIWb ; M10X55 4| 3 FiE
21 WSA10 NERHFEHFX 339 MI0 4 ”
22 NSZ10 aHFyFw b 8 2va MIO 4 ”
23 1306050004 A7 a4 w bCP; 60—2X30T 1

24 085105000M 7y ¥y ; 21X9 1

25 NN20 FA4arvi+v b M20 1

|
T




L

TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT

O—%
N
065-0030-1038
BHES HEES = T R a5 z
26 105061000M Fv¥av7—ulCP 1
27 1050600004 A7arvy b+ 13T—-2 1
28 J6005LLU K= 7Y 5 6005LLU 2
29 DC025 CHEbAD YU 25 2
30 DHC047 CH& 27 7F+ 47 1
o 31 096757000M VAo 25.5X0.6 -
32 ONB6 JV—RA=y 7V B M6 1
33 130450000M o FCP 1
34 099710000M 5 3
35 0473370006 A7V v 1
36 NZ12 Fwb 8 2va M2 2
37 WRA20 ESHFHTEX M20 1
38 PC050036 Uy 5X36 1
39 LAWG60066 O—5F xz—¥ 60—2X66L 1
40 1325960004 R 7 v—s3CP 1
41 130651000M VA —
42 042783600M Ty Ve ;12 4
43 BZ12030 Kb 88 M12X30 4
44 WSA12 NREFHE 39 MI12 4
45 AA060—2 O=35F —vy¥Fr5F 60—2 1




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT

RhLTU—LA

065-0030-1039
&S HLES i o e 1
1 1325990004 KM A7 L—ACP 1
2 130905000M Frv—b 2
3 BZ12040 KE 8.8 MI12X40 4
4 WSA12 NRYFEH X 3T Mi2 4
b NZ12 Fv b 8 2Va Mi2 4
6 BX116090 Ak 109 &% Y MI6X90 2
7 WSA16 NxYFEHx 3TdY M6 2
8 0590442006 FARTTw¥s 2
9 094901000M AT T 1
10 043341501M ATY VT RF 1
11 NZ12 Fv b 8 2¥a2 M2 2




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT

FrHRy o2
24 q
23
12 11 “}? 1
Q 2
11
065-0030-1040
RS HRES il on i} EE 1 %
1 1309840002 PICY + 7 b 1
2 J6207LLU F—=x7Y s 6207TLLU 1
3 D407210 FANY—Iiv DAOXT2X10 1
4 J7207 FTUXaGHE—LRTY VS 7207 1
5 DHC072 CHZbx9 T+ T2 1
6 1018700002 A5 = ;35.7X6.5 1
7 0779320002 N~ E=F v ;15T 1
8 0445851000 Favkaf Vi 3BHX01 -
9 0445862000 Favtagva;35x0.2 -
10 | DCO035 CHo 27 VI 3 1
11 1018710004 FYRyIAF v o7 1
12 BSZ10025 afFyENE T MIOX25 4
13 WSA10 NRXFEHFR 339 MI0 4
14 | 1301820004 AAVFEY Ry IR 1
15 | 0003480000 T =2k 1
16 | 0003280000 Ny F v 1
17 0779311002 YL E Y 2 23T 2
18 | 1326050002 Ve T b ALV 2
19 1326020004 Ky 2 X7v—4LCP; R 1
20 1326040004 Ry J A7 1—4LCP; L 1
21 DC035 ChHsr2x7 Yo 35 2
22 J6207LLU K=xX7Y vy 6207LLU 2
23 J6208LLU F—=nNx7Y 57 6208LLU 2
24 DHCO080 CH# X7 TF 80 2
25 1306520004 TS5V 1




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT
¥vYRy IR

065-0030-1040
RHEES| HmES B o % i %K (i
26 | BSZ10030 aFyELr T MIOX30 6
27 | WSA10 NERHFEHRX 3TY MO 6
28 | BZ12040 Fuok 8.8 MI12X40 6
29 | BZ12045 Fh 8.8 MI12X45 6
30 | BZ12170 Fur 88 MI2XIT0 3
31 WSA12 NXHFHAF 3T MI2 15
32 | NZ12 +wv b 8 22 MI2 15
33 | BZ14035 A 88 M14x3s 4
34 | WSAl4 NEXHFHR 3Ty M4 4
35 | NZ14 v bk 8 2va Ml4 4
36 | 000338000M M107' 5 1
37 | 0003390000 Ny Fv (MI075 5H) 1




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT

JU—L5—
15
REES| HEEFS 8 Hm i} (s (i %
1 1018612004 TVYIN; L 1
2 1018622004 TYIN;R 1
3 BJ10025 H+7%+ v B 109 MI0X25 4
4 BJ10035 $+5% v 7B 109 MI10X35 2
5 NZ10 7wk 8 2¥2 M0 6
6 WSA10 NRHFHR 3TT M0 6
7 044098500M Ty vy ;10 6
8 042858201M YUAFT 2
9 BZ12030 Fok 8.8 Mi12X30 2
10 NNF12 75vVF4aviy b MI2 2
11 1333440004 NR=A Y27 4CP 1
12 105268000M 7Y v HAX21X125 3
13 000738000M JvFEy ;6 2
14 | 049907000M DA 2
15 1018360004 A7 L —23CP 1
16 099233100M DN -
17 BSZ10025 aFZyRur 7T MI0X25 4
18 | WSA10 NEXHFEHFR 3Ty MI0 4
19 | 8010130000 Fv¥Vav 1
20 | 801014000M 15— ¢l1X5b4.b 1
21 BZ16090 Fbh 8.8 M16X90 1
22 WSA16 NRYHF 3TY M6 1
23 | 000761100M Ty ¥ ;16 1




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT
A—3

32\0 31 30
19

"

15

v
10 Qf 12
K # @& 8
p
&) iy
B M q?o/o/
g
065-0030-1042 H # ﬂ
REEE] REES ® & ff’r\ T "

1 1302700004 27aty b+ ; 80—10T 1
2 1018820004 Y —RIWbRVICP 1
3 130653000M H15— ; 40X59 1
4 1018790000 Ty ¥Va 2
5 0988800000 VAo 35.56X0.6 —
6 DCO035 Ch#brw Y7 35 1
7 ONAS6 FY—=2=w 7 A M6 1
8 0469070000 Yy —KRIVb 4 | F3 4
9 WSAO08 NEXHFHE 3TV M8 4 ”
10 NSZ08 agyFy b 8 22 M8 4 ”
11 1326100004 u—5CP ; 35S 10
12 1326120004 o—35CP; 35L 3
13 1326130004 o—5CP; 35LH 2
14 076543100M H 35— 2
15 1326150004 FLo—3CP ; 35L 1
16 1302730004 ZA7a’ly b 60—23T 16
17 1304590004 A7l b ; 80—30T 2
18 065487000M VA 35X1.2 —
19 0590442006 F4RITy Ve 16
20 NN16 FA4uavtry b M6 16
21 1301831004 NYTUT L 1
22 1301841004 NIV ST R 1
23 ONC6 FY—=RX=w TNV C M6 2
24 130209000M NAL 7S5 vy PF208 30
25 130210000M 75vYCP ;1 16

I
—
(e}

I




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT

a—>
RHES HMIEES i on % PR i5esd %
26 JCS307DDU 2=y ba3YNTY 7 CS307DDU 16
27 BZ12030 Ah 8.8 MI12X30 60
28 BZ12040 Kb 8.8 MI12X40 4
29 WSA12 NERFEHR 33y M2 64
30 130211000M 75 vYCP ;2 16
31 JCS207LLU 2=y ba3YNTY VHCS207LLU 16
32 | DC035 CHobx7 Y7 35 16
33 BSZ10020 amgyERLr 7T MI0X20 45
34 BSZ10035 aFyRNLs T MIOX35 3
35 WSA10 NxHFEHZ 3Ty MIO0 48
36 LA80125 o—-5F £—v 80X125L 1
37 LA60177 a—5F - 60X177L 1
38 | LA60213 OD—5F =~y 60X213L 1
39 101883000M Fv¥av7—ALCP ;L 1
40 1018860004 Z27°a4y FCP; 80X12T 2
41 DCO30 CHs 27 Yo 30 3
42 073444000M VA —
43 130447000M Fv¥vavT7T—5uCP;60A 1
44 130540000M Fv¥avy7—AiCP; 60B 1
45 0986740004 Z27°a4 v b CP; RS60X13T 2
46 DC025 CH¥bxAy Yo 25 4
47 044214301M 7w ¥+ 25.5X1.0 10
48 | ONB6 JY)—R=9 7N B M6 3
49 130450000M oy FCP 2
50 130545000M oy FCP; S 1
51 099710000M H5— 8
52 0473370006 27N v 3
53 NZ12 Fw bk 8 2vVa M2 6
54 060807100M Ty ¥y 3
55 PC050036 7y EY 5X36 1
56 1302740004 Z27ary b 60—17T 2
57 J6007LLU R )XY w7 6007LLU 4
58 DC035 Chgbxw Y7 35 2
59 DHC062 Chz b A7 TF 62 2
60 025266000M F oA VEHR 1
61 0988800000 DN -
62 AA080 a—5F 2 —VYFF 80 1
63 AA060 O=5F—VYFF 60 2
64 ADO060 7y b Vs 60 1
65 130709000M 7—YCP; A—8" 1
66 ADO080 F7®y MYy 80 1
67 | ONAS6 SY—=R=y N A M6 2




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT

AF145—%

/%
L7,
56
|
065-0030-1043
REES, HREFES i T a3 B i
1 1019311004 OyFVITw D 2
2 101995000M vy ; B20X45 2
3 WRA20 ESHEHTR M20 2
4 PC032032 7yEy 3.2X32 2
5 ONB6 I Y—-2=y 7V B M6 2
6 1019320004 Y w7 LsY—-CP 1
7 060807100M AR S 2
8 PC050036 JYEY 5X36 2
9 ONB6 JYV—Z2=y 7}V B M6 2
10 101934000M 2Ty VT 2
11 1326590006 27Y vy H6X28 X800 2
12 043341501M ALY VT AT — 2
13 NZ12 Fv b 8 2va Ml2 4
14 000070200M vy ; Bl16X40 2
15 WRAI16 ESH¥HX M6 4
16 PC032032 7YY 3.2X32 2
17 0858590000 Iy ¥aV 2
18 097618000M VA 11X1.0 —
19 BJ10080 H+5% % v 7B 109 M10X80 2
20 NSZ10 aK&Fv b 8 2va MIO 4
21 134929100M gy FCP; 1 1
22 000056200M E Y : B10x40 1
23 WRA10 ESH¥ARx MI0 1
24 PC032016 7Yy 3.2X16 1
25 NSZ10 akyFy b 8 2¥a2 MO 1

!
DD
S

l




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT

A7 +5—9
BHEE] RLE S T * W £
26 079422000M J+=27xvF;10X40

27 079423000M

v v 10X40

28 | 134931000M

Jv7CP; L

29 | WRAIL6

¥R M6

30 | PC032032

7y¥Ey 3.2X32

31 134933200M

vy FCP ;2

32 1 000761100M

Ty ¥y ;16

33 | NNF08

75vVFLuavsFy b M8

34 | 1306641004

T VTN

35 132618000M

oy FCP; 3

36 | BSZ10040

agyKRrt 7 MI0X40

37 WRA10

s HR MI0

38 | NSZ10

afyryb 8 2= MI0

39 079422000M

Jx—2xVF;10%x40

40 | 079423000M

v 10X40

41 1019471004

TS5y b

42 BZ12110 Fubh 88 MI2X110

43 BZ12120 Kb 8.8 MIZX120

44 NNF12 IS5 vVFAuartry b Mi2
45 BZ14035 Kb 8.8 MI14X35

46 NZ14 Fw bk 8 2¥a Ml4

47 1306630006

27 7 HY X 38X 369

48 | 129736000M

APY VT AT —

49 NZ12

Fv b 8 22 M2

50 | 830961004

0—3

51 | 060807100M

Ty ¥y

52 | PC050036

7y EY 5X36

53 | BSZ08020

aFgyRENMEr T M8EX20

54 | NSP08 AHIATYYTFy b 4 M8

55 | WRAO8 EsY¥Hx M8

56 | 082280000M HZ -

57 | 025266000M F oA VHFHR

60 | 1346320000 hovy— (HD) ®61~69ff# 7> a v
61 134633000M 7% v hCP SV av

62 | BSZ08030

aFZyRNr 7T MEX30

/7

63 | NSZ08 akxy+vb 8 2Va M8 ”
64 | 0967020000 A9 VE ”
65 | CP03010 +F~axy M3IXI10 ”
66 | NAO3 Fwbh 4 22 M3 ”
67 | WS03 NEHFEHFR 239 M3 ”
68 101994000M AY VY —LN— ”
69 | 045998000M yvr ”

70 1349250004

Yy FLN—CP; R

71 | 0830930000

Vawd T TV—=N

72 | 060807100M Ty ¥y

73 PC050036 7YEYy 5X36

74 | 083094000M A5—

75 | BZ12050 Ak 8.8 MI12X50
76 NZ12 Fv b 8 2Va MI2
1 WSA12 NERHFEHER 3TY MI2

78 123771000M

#1595 —;85XI11

fEs
1
1
1
1
1
1
2
1
1
2
2
2
2
2
2
2
1
1
2
1
1
1
1
2
2
2
2
1
1
1
2
2
1
1
2
2
1
4
4
4
1
1
1
1
1
1
1
1
1
1
1




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT

HIs8—
065-0030-1044
RHES] B0 &= ® B & % A
1 1326220003 7aY M AN—-CP ;L 1
2 1326230003 7Y bAN—CP; R 1
3 1308780000 Ow IV N 4
4 130887000M 75% v +CP 4
b BSZ08020 aTyENLE T M8X20 16
6 NSP08 AHIRATYVITFw b 4 M8 16
T 131326000M S A 2
8 WRAO08 ESHHx M8 2
9 PC032016 7Yy 3.2X16 2
10 | 0009341000 5tas ; Y—60CI (S v kM5 2
11 1326240003 —pbsH—CP; L 1
12 1326250003 F—=bHhN—=CP: R 1
13 1308780000 Bw 7NV 4
14 130887000M 7354w hCP 4
15 BSZ08020 aFyRENwd T M8X20 16
16 NSP08 AFXIRATYVITFw bt 4 M8 16
17 0009321000 8 ; R—60CI (S# » hM5f}) 2
18 1349340004 7av pkHh¥—-CP; L, Lol 1
19 1326270004 70 Y b #HN—CP: L/ Lo2 1
20 1312170004 7aYbh¥—=CP: R, Lo 1
21 1181490000 =F1 ;M8 3
22 1326280004 Fe—bHhN—:1,Lo 1
23 1326290004 b Ho— R, Lo 1
24 BSPZ08020 aHISWYFEENLE T M8X20 4
25 WRAO08 ESH¥TFR M8 4

!
™
>

|




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT

HIN—
065-0030-1044
RHES HRES &0 oh # R B %
26 | 1326300003 F—hrUPhN— 1
27 BSPZ08020 IFTISWYFERNVE T M8X20 8
28 | WRAO8 ESH¥Lx M8 8
29 0009301000 Etés ; R—150TR (S v hM5fE) 2
30 | 1326310003 by P H N 1
31 BSPZ08020 aFyISWYEFENLE T MEX20 10
32 | WRAO8 ESHHR M8 10
33 | 1326321004 7a Yy AN—CP; Ml 1
34 | BSPZ08020 aFISWyFKELE T M8X20 4
36 | 1326330003 79y b AN—CP; M2 1
37 CP06012 +FRaxY M6X12 3
38 | NP06 A7V ITFy b M6 3
39 0333782000 7Yy 1
40 | WRAO8 ESHAR M8 2
41 | NP08 27y vrFy b M8 2
42 | 0949340000 SN—I %y b ;800 1
43 | 131260000M AT — 1
44 131261000M A b wyox 1
45 CP06020 +FRaxY M6X20 1
46 CP06016 +F+~RazxY M6X16 1
47 NNF06 IS5vVFfuavFy b M6 2
48 | 1312760004 #/8—; L 1
49 1312770004 A= R 1
50 | 1181490000 =F1 ; M8 4




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT

a7
6 13 /—'—‘"ﬂ
S s 7
1%{4
1"
3/%\ 5 . 5%/12
/0 \% 9
4
M 10
13
065-0030-1045
RHES| HRES = T % %fr\ fE% 1

1 | 1019590000 v v 4 : CSHB5X 330 X465 1
3 | BZ20120 Kb 88 M20X120 2
4 | NN20 F4av+y b M2 2
5 |1033—04 k=R TE PFl/4XPT1 4 1
6 | KHO402000BP | =7 & —21,/4X2000 Si—4 1
7 | 0887210000 AL GNF 0 —T 2
8 | 0009280000 A by FNNT 14 1
9 | KHO401200BE | =7 vk —&1,/4X1200S1— S902 1
10 | 0887210000 2L SNF a—T 2
11 | 131453000M NVTHRNY 1
12 | BSPZ08016 IFISWYFELE T M8X16 2
13 | ILT380 Avvaawrs4 T15X382 2




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT
b AI Ly ) =%

NI—nRyir—TAS
FUEIE—S~

ROLVAS %Y FAS
FURYE—F~

065-0030-1058

s
W

15//% L) %

%S| HMEES & Hh a3 B 1 £
1 1310862000 L FaRy s 1
2 CP04012 +Fr~XaxyY M4X12 4
3 NP04 ATV v IFy b M4 4
4 1318920000 a—F; &E—~5% 1
5 0937320000 WK vy — 1
6 CP04016 +F_RaxrY M4AX16 4
7 WRA04 ESH¥FHE M4 4
8 NP04 AFN Vv TFy v M4 4
9 1313640000 I—F; ¥4 FaKfy X 1
10 1313660000 r—7ay s Fy b 1
11 1313860000 ALy F 1
12 | 1349550000 I—-F; VOB ERy IR 1
13 | 1349561000 VIYERy 7R 1
14 1345450000 a—F ;5000 1
15 | ILT100 4 vvauay 254 25X100 —
16 | ILT150 4 vvaay 234 35X152 3
17 | ILT380 A vvany 254 T5X382 —
18 0937330000 Y —aO TRy b 1
19 |FU3 Ex—X;3A 1
20 FU30 Ea—X;30A 1
21 | 801648000M + R b 1
22 | CP04012 FRaxY M4AX12 2
23 | NP04 ZAFYVvTFyr M4 2
24 | WRAO4 ESHHF R M4 2




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT
ERy b4

065-0030-1047
RHES WRES il o R RS i
1 1326360004 ERy +¥f FCP 1
2 1018660004 NG IVYT 2
3 ONB6 JY—Z=y 7NV B M6 2
4 BZ16040 RIbh 8.8 MI16X40 3
5 BZ16065 Kb 88 MI16X65 1
6 NZ16 Fw b 8 2¥a Mlb 4
7 WSA16 NEYFEHZ 3Ty M6 4
8 101867200M A5~ ; 16.2X20 1
9 WRAI16 ESHFARX M6 1




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT
201

065-0030-1048
HEHES| BERES i T & R fE%K & %
1| 131220000M R Y7 ~_—2CP 1
2 | BSPZ08025 aFISWYFHELE T M8X20 2
4 | 0993650000 ERbvEANEYT 1
5 | BP06016 SWYHILE 4.6 M6X16 3
6 | 131223000M 7 — ACP 1
7 | WRA12 ESH¥HR M2 1
8 | PC032020 JYEY 3.2x20 1
9 | 099385000M ey 1
10 | WRAO05 ESH¥HE M5 1
11 | PC020016 TYEy 2X16 1
12 | 131230000M LN— 1
13 | BSZ08025 agyRLE T M8X25 2
14 | 044097200M 7y Ve ;8 2
15 | NSP08 aFIATYVISFy b 4 M8 2
16 | 0993660000 VFE—=TFANT VD 1
17 | 1003771000 Fa2—7 ;550 1
18 | 099386100M 754 v FCP 1
19 | 055032000M h7 %KL 88 M8XI15 2
20 | NSP08 aFIZATY Sy b 4 M8 2
21 | 1003751000 TUrNLE 5 1
22 | BZ06030 FNE 88 M6X30 3
23 | WS06 NREFHX 259 M6 2
24 | 1312360000 Fa2—7 ;1100 2
25 | 1003771000 F2—7 ;550 2




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT
= |

065-0030-1048
RB&ES WMmES B an % PR e 1
26 1003781000 Fa—7 ;700 1
27 1019691000 Fa—7 ;1950 1
28 131232000M 22755y b ;1 1
29 | 131233000M Fa292T7585y b ;2 1
30 1366560000 Fa—7 ;9170 1
31 | 0993870000 TS5y 5
32 | 1284600000 TS5y 1
33 099388000M A2 6
34 BZ06016 R E 88 M6X16 6
35 | NP06 27V 7>y b M6 6
36 | ILT150 A vvany s &4 3.5X152 5
37 1007150000 F—=275v7 ;95 1
38 | 055474000M B xENLE 88 M8X20 2
39 | NSP08 AFFRTYTFy b 4 M8 2
40 | BZ06035 FNb+ 88 M6X35 1
41 | 134241000M ~) bR by ¥CP 1
42 1003741000 TvrgF ;2 1
43 | NP06 A7V ITFy b M6 2
44 | WRAO06 ESHFH X M6 1
45 | 1089730000 I Va VAP L—oF 1
46 | 1089741000 R—=R7 55— PT1/8 1
47 1366550000 Fa—7 ;320 1




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT

TA¥ « INT
12
v
REES| HERES 0 U R B 2 %
1 0003840000 4% ;11L—15—8PR 2
2 0003830000 Fa—7; 11L—15 2
3 1029730000 FA —; 10dX15 2
4 0008760004 N7 FB2X85 2
5 J30209 F—XXT7 Y V530209 2
6 J30206 F =7 Y vy 30206 2
7 0008770000 V=T w ¥y ; 45 X85 2
9 000712000M Fpw ANFw b M2X15 2
10 PC040032 7YYy 4X32 2
i1 000415000M NTHRyw 2
12 0008780000 Kb ; M18X1.5X49 12
13 0008840000 FR4—IvF v b ; MI8X1.5 12
ASY | 0008620000 4% (#3) ;11L—15—8PR 2 | ®1. 2. 3fEITE




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT

ALY, INT
065-0030-1049
RHES| MEES il n % R % 17 %
1 0440584013 NT 1
2 J6205LLU ~N7 Y vy 6205LLU 2
3 000525000M Frv? 1
4 000535000M VIS 1
5 066580100M Tw ¥y ;10 1
6 BX10020 Kb 109 MI10X20 1
7 TB10 NYEHHx - M0 1
8 043827300M FruS 1
9 BSZ08016 aFyHRb T M8X16 3
10 WS08 S7w ¥y ; M8 3
11 DHC052 CHsbrxo7+ 52 1
12 0005060000 74 ¥ ; 11X4.00—5—4PR 1
13 | 0005070000 Fa—7;11X4.00—5 1
14 043688200C 4 —v; 3.00SPX5DT 1
15 043689300C FA = (ST 3.00SPX5DT 1
16 BA08016 Kb ; MB8X16 3
17 NAO08 + v b M8 3
18 | WS08 A7V ITTy vy M8 3
19 005050000 74 ¥AS 11X4.00—5—4PR 9,10,12,13,14,15,16,17,18




TCR2200WN, TCR2200WT, TRB2200WN, TRB2200WT

v—7
065-0030-1059
AHES| MEmES il o % R B %
1 | 0008590000 GH % %=bsFL—} 1
2 | 0792650000 =T A= 1
3 | 1003541000 SNV AATFVARY 1
4 11318520000 5~ FHA VL 1
5 | 1318530000 5NNV FHAL VR 1
6 1318540000 5NN FHA VS 1
7 | 1339790000 STAR®—7 5~ ; 63 2
8 10818811000 fih=—2;C 1
9 | 1325850000 3 L 2200W 2
10 | 1319251000 SN F kA 1
11 | 1327920000 SNV L Fa Ry IR 1
12 | 1319270000 SN FAT 1
13 | 1064790000 SNV 4 as6b 1
14 | 1064890000 S EE TS 1
15 | 1065190000 7~ BE 105 1
16 | 1064850000 SN EE L 2
17 | 1061710000 SNV, r4as 8 3
18 | 1061701000 AL EE T 1
19 | 1064190000 S~ e 38 1
20 | 0008610000 U#%y x—a7L—} 1
21 | 1339080000 STAR®—7 5~ ;63 (VVELYF) 1
22 | 1065840000 SN A4 as170 1




]
TCR2200WN, TCR2200WT

F47
065-0030-1057
RHEES| BRES s T 2 i % 1% %
1 133268000M YT b ;1 1
2 133269000M DR 1
3 000738000M YvFEY 6 3
4 130667000M LN—CP 1
5 PS060032 ZAFY Ty 6X32 1
6 000453000M FNEEY 9 1
7 1337850006 47 ;L 8
10 1347980004 FI—F47 814+ Sva v




TCR2200WT, TRB2200WT
FOAINAT42Y

065-0030-1050

RHES| MEHES il L) % L] 1EEL ] %
1 1326391004 NAVvF 4 v T 7L—5CP 1
2 BSZ08020 aFyELE T M8X20 4
3 NSP08 aAFIRTY Ty 4 M8 6
4 044097200M Ty¥y ;8 4
5 079497100M +4771—FCP 2
6 BSZ08020 aByRr T M8X20 4
7 NNF08 75vVFf vy b M8 2
8 BH08016 %+ v 7B 10.9 M8X16 2
9 NSP08 aFFRATFY v IFy 4 MS 2
10 | 1020460000 F47 2
11 BSPZ08020 afFISWYFHRE T M8X20 2
12 WRAO08 ESH¥HER M8 2
13 TPA03006 FREZyEVRY A 3X6 2
14 105788000M bIA VAR 2
15 070398000M ANV A 2
16 BZ06035 A+ 88 M6X35 2
17 | NNF06 75vVF4a vty b M6 2
18 WRAO06 ESH¥Ax M6 2
19 | PS060020 Z27FYvITEY 6X20 2
20 1326400004 FIA VL T4 VICP 1
21 BSPZ08020 aHFySWyFENLbd 7T M8X20 3
22 044097200M Ty Yy ;8 5
23 131153000M YR 1
24 BSPZ08020 aHZSWYFHKbs T MEX20 3
25 | 044097200M TV ;8 3




TCR2200WT, TRB2200WT
bIAINA T 42T

065-0030-1050

RUES| HomES il a0 PR fE 1%
26 1326410004 # = WCP 1
27 1326420000 Yy T b 1
28 PS040025 ATFY Ty 4X25 1
29 0774093000 Ty¥a 2
30 1311500000 A b V= 2
31 131152000M 7 v 7 MCP 2
32 BZ06016 Kb 88 M6X16 4
33 WRAO06 eSS R M6 4
34 WS06 NEXRHEHE 209 M6 4
35 134367200M F74 VA4 FCP 2
36 BSZ08020 aFyENLE T M8X20 4
37 044097200M Tv¥e ;8 4
38 NSP08 AFIRTYTFy b 4 M8 4
39 | 131894000M <—HCP. 1 | @424+
40 BSPZ08016 aFISWYFKENE T M8X16 2
41 044097200M Ty ¥y ;8 2
42 0888971000 Favak—2ACP; 150 1
43 EWK864106 SEFy¥5 M6 1
44 EWK864206 LFY¥5 M6 1
45 | ONB6 FY—Z=w TN B M6 1
46 1302860002 ¥+ ;8T 1
47 J6203LLU F=R7Y vy 6203LLU 2
48 DHC040 Chzbxrxvg 7+ 40 1
49 DCO017 ChHsbvxrxg vy 17 1
50 1019510000 bP7A VST 1




TCR2200WT, TRB2200WT

FOAINA T 42T
RHEES WRES ol n % R 5254 1 %
51 TRK08020 6r A %Y 1097F3I M8X20 1
52 | NSZ08 akyFry bt 8 2va M8 1
53 1302870004 A7 a4y hCP; L 1
54 J6203LLU R=x7Y v 6203LLU 2
55 DHC040 CHosbx7 T+ 40 1
56 | 131154000M #15—;11.5%X6 1
57 1302900004 F¥ ; 64T 1
58 KFD05050100 NMavF— YavkIF 5X5XI10 1
59 | 094946000M Tw¥e ;17.5X2.3 1
60 | DCO017 CHobxw v 11 1
61 090360100M V4o 18.6X0.1 e
62 1303440004 Y7 95CP 1
63 BSPZ08020 aFISWYyFENE T M8X20 4
64 | 044097200M JyVe ;8 4
65 1341740004 Yy 7 b 1
66 J6203LLU K=~y s 6203LLU 2
67 DHC040 CHsbxg 73 40 1
68 | DC017 CHobvrxv vy 17 1
69 1326430000 ¥4 Fo—5fF - ; 40X73L 1
70 1312373004 7471 —ACP; L 1
71 1312422004 r7A4 7 1L—4CP; R 1
72 BSPZ08020 aHISWYFENLE T M8X20 4
73 | 1326440004 u—5CP; 7 Fy 1
74 BSPZ08016 aHFISWYFRILE T MB8XI16 1
75 | 044097200M VR Z T 1
76 JPFL203G NA75vyY kY PFL203 4
17 JCS203LLU =y bIYXTY VI CS203LLU 2
78 BZ06016 Kk 88 M6EX16 4
79 NP06 A7)V TFy b M6 4
80 | 1308431004 7—46CP; L 1
81 1308440004 7—4CP; R 1
82 | 130347000M u—3 2
83 | J6203LLU R—=RF7Y vy 6203LLU 4
84 | DHC040 CHZb*27 TF 40 2
85 | DCO17 CHyv2x7 Y27 17 2
86 WRAI12 ESHHR M2 2
87 0577421000 DA -
88 | NNF12 75vVFLuaviy b M2 2
89 | 082675000M AN T 3
90 | 079495000M FvyvavrFr—» 2
91 013290101M 239y FRRSY VY 4
92 NNF06 J75vvYFrA iuvFy b Mb 4
93 066672500M AR 6
94 | DC020 CHsr27 Y7 20 6
95 0858040000 Vi 0.27X14X25 —
96 801542000M 74 FCP 2
97 | NP06 AFY v TFy b M6 4




TCR2200WT, TRB2200WT
bIA =T

065-0030-1051
REES MEES & it % R fE% &
1 135290000M FvVag vAF—CP 1
2 131346000M Fv¥agvITLr—F 1
3 024097000M VVPYRUNZ 1
4 WRAO06 ESHFHx M6 1
5 NNF06 75v¥VF4avFy b M6 1
6 BSZ08016 agyEwvd T MB8X16 2
7 NSP08 ABFRATYVYTFy+ 4 M8 2
8 131266000M bAoA V=V T HN— 3
9 0006900000 =F1 : M8X14 4
10 1326460004 H4 F7ZL—~bCP 1
11 BSPZ08016 aHFISWYFELN T M8X16 4
12 WRAO08 ESH¥H2Ex M8 4
13 1326470003 71 3—CP 1
14 BSPZ08016 aHISWYHFKRIVE T M8XI16 5
15 BSZ08016 aFyELE T M8X16 2
16 WRAO08 ESH¥HEx M8 7
17 NSP08 AFIRATYV T+ b 4 M8 2
18 1319420000 AR VIZENN B B 4 1
19 073438200M H N 1
20 079496100M HA Fa—iLCP 2
21 BSZ08040 aHFyRLE T M8X40 1
22 WRAO8 ESH¥Hx M8 4
23 WSAQ8 NERYFEHFZ 3T9 M8 1
24 NSZ08 akgyFw b 8 2¥2 M8 1
25 1333490000 = Ny S Ve 1

I
(S~
>

|




TCR2200WT, TRB2200WT
bIAIMM YT A 2TIFD

| 47

&
085-0030-1052
REES| HaES ol o % [ B3 Y] £
1 1312460002 XA 1
2 | BZ06035 Kb 88 M6X35 1
3 NNF06 J75vVFfaviy b M6 1
4 | JPFL205G N475vY kY PFL205 2
5 | JCS205LLU 2=y bay~x7Y ¥sCS205LLU 1
6 | BSZ08020 agyELE T M8X20 2
7 | NSP08 aFyRFY)vSFy b 4 M8 2
8 | 135101000M 7—1 ; A—110 1
9 | JHF2016 79 =429y F HF2016 1
10 | KBB—2020A | A—RY FS4 7Y v IA20X23X20 1
11 | 082669000M B3 — 1
12 | DC020 CHH 2T V27 2 1
13 | 0873081000 v A 20.5X0.27 -
14 | ONA6 FY)—R=y 7NV A M6 1
15 | 131247000M FVVa VT —AhCP 1
16 | 000034100M BIREF vy a v = 1
17 | DCo12 CHE AT V7 12 1
18 |KBB—2010A | H#—KVYFSAL 7Y v 7A202X3X10 2
19 ONA6 JY)—=R=y TNV A M6 1
20 | VLA042 VAR LA—42 #Lvy 1
21 | 130926000M ~)V bR by ¥CP 1
22 | 1114650000 BHE—% 1
23 | CP05016 +F~Na XY MbX16 3
24 | WS05 NEFHER 209 M5 3
25 | 131080000M E—HN—2 1




TCR2200WT, TRB2200WT

bTAINA T 42T R

065-0030-1052
EHES| HERES il fE%L i
26 055474000M A7 FXFENVEF 8.8 M8X20 2
27 044097200M Tw¥y ;8 2
28 NSP08 AFZRATYVIFv b 4 M8 2
29 BSZ08030 aFgyELE T M8X30 1
30 NSZ08 akyFy b 8 22 M8 2
31 132670000M 27N v 7 H2.3X11X95 1
32 DE006 EX¥b2x7 6 1
33 135099000M ~N) b X b woNCP 1




TCR2200WT, TRB2200WT

R b—n
12 . 168
' i‘/QJO(A%{!)
065-0030-1053
RHES WRES i o a3 %K 1 %
1 1191840004 Z 7 v —r8~— ZCP 2
2 | 8018290000 R L= 2
3 | 8018280004 HA KT L—t 2
4 | BZ06045 Kk 88 M6X45 10
5 | NNF06 795vVFLurFyt M6 10
6 | 049845000M ~N—2CP; L 2
7 | 049846000M ~—2CP; R 2
8 | WRAI16 ESH¥EH X MI6 4
9 PS040025 RATYVIEY 4X25 4
10 | BSZ10030 agyELr T MI0X30 4 | ABBR 7 v — SEUSHC R
11 | WSA10 NERFHX 3Ty MI0 8
12 | 044098500M Ty ¥e ;10 8
13 | 089217000M A7)V L 2
14 | 089218000M 7YV R 2
15 | WRA06 ESHHR M6 4
16 | BSZ10030 aFyRLE T MI0X20 4 | BEBR 7 v — B {ER




TCR2200WN, TRB2200WN

Ry bL U547

KHIT—58

13635-2
065-0030-1054

RiES HmES B e i) fE%K i
1 1326500004 X v b7 L—ACP 1
2 BSZ08020 amggRmr T M8X20 4
3 NSP08 aHERATYVr7Fy b 4 M8 4
4 044097200M Ty ¥y ;8 4
5 1326513004 I hw—35CP 1
6 J6010LLU R—=_71Y 5 6010LLU 2
7 DHC080 CHE 27 7% 80 2
8 132652100M 0—=3 1
9 J6301LLU ~N7 Y vy 6301LLU 2
10 DHC037 CHsbx7 77 37 2
11 1326530002 Y% 7 b 1
12 | 043065101M TNV — b AT — 2
13 WRA12 EIHFH X M2 2
14 | PC032016 TUEY 3.2X16 2
15 134529000M 7—4CP; L 2
16 | 061847000M 7w Y e1TX1.6 2
17 DC016 CHsr2x7 Y2 16 2
18 112083100M 27N vy AL.OX18X85 2
19 1326540004 YoN— 1
20 | 075290100M Ty ¥y ;10 4
21 WSA10 NRFEHFX 3Ty MI0 4
22 BSZ10030 aFyERLr T MIOX30 4
23 | NSZ10 agsyFryr 8 22 MI0 3
24 | BSZ10025 aFsRur 7 MIOX25 3
25 132655000M NYPVY 2 | ®261¢

|
=
|




I

TCR2200WN, TRB2200WN
Ry BN IT AT

RHES| MEES il o # R e 1 %
26 | 0934880000 Ty va ; 16X25 2
27 ONB6 JY—Z2=w 7 B M6 2
28 055474000M A7 xRNV 88 M8EX20 4
29 | NSP08 AHSRATY) T+ v b 4 M8 4
30 | 079160000M K2 2
31 | 0883040000 VAo 16.5X22X1.0 -
32 | 1326561004 +4 77— AuLCP 1
33 | 1326571004 FA 7 1
34 | 132658000M FA 7T L—} 1
35 | BJ08030 +5% % v 7B 109 M8X30 13
36 | WSA08 NEXHEHEX 3Ty M8 13
37 NSZ08 afFrFw b 8 2va M8 13
38 | 122643000M 7 —A 3
39 130958000M T — A 3
40 132660000M Y7 b 1
41 132661000M V¥ 7 b 1
42 061847000M 7w Yy 17X1.6 18
43 | PC040025 TJYEY 4X25 18
44 122645000M A7) VS H2.9X20X95.5 4
45 | 134937000M 7 —4LCP 1
46 | PS060032W AV v Ty FTuay 6X32 1
47 | PS035032W ATY Vv ITEY  FTNay3b5X32 1
48 | 0006810000 =F1Y : 14 1
49 130912000M o FCP 1
50 PC040025 7YY 4X25 1
51 061847000M 79 ¥ y1TX1.6 1
52 079422000M TZx—2xvF ;10X40 1
53 079423000M Y ; 10X40 1
54 NSZ10 akyFw b 8 2va MO 1
55 | 135588000M Yty b L¥—CP 1
56 1349400000 A7) VT 1
57 | 134941000M Iy F 1
58 | ONB6 JYy—=R=y 7NV B M6 1
59 | PC040025 JHUEY 4X25 1
60 122668000M NIy 1
61 122685000M A b woN 1
62 BSZ08020 afyRLy T MB8X20 2
63 RBT08025 K& vB 10.9 M8X25 1
64 | NSP08 aFgyAIY) v yrFy b 4 M8 3
65 BSZ08030 aAdyRuvpr T M8X30 1
66 | NSZ08 afyFy b 8 22 M8 1
67 | 1226711004 ¥%» 7 MCP 1
68 J6904LLU R—R_7Y) 7 6904LLU 1
69 DC020 CHE w27 Y27 20 1
70 HF2520 Tvyx4235yF HF2520 2
71 J6905LLU H=n_7Yy vy 6905LLU 1
72 | DC025 CH#rv2xg v 25 1
73 134523000M 23597 —A5CP 1
74 | J6805LLU F—_7 1 vs 6805LLU 2
75 134619000M 7y ¥ 256.5X1.0 1




TCR2200WN, TRB2200WN
Ry MM YT 407

KEIT—o8 79
78

\&%
o i,
70 737475 Bjﬁb

065-0033-10:

REES| HEES s o £ i fE% &
77 SLFR1—8S oy bzl LAY 2ZX MSR 1
78 130923000M o v FCP 1
79 NSZ08 agyFy b 8 2¥a2 M8 2
80 000085200M N—-& v ;8X1.6 1
81 1326621004 4 F7v—bCP 1
82 BSPZ08020 aAHFISWYFAHRIE T M8B8X20 4
83 1297910000 Ik 2
84 CP06016 +FNRaxY MI16X16 4
85 NNF06 J5vVFfuvry b M6 4
86 132663100M u—35CP; 2 1
87 WRAO8 ESH¥Hx M8 4
88 134234000M v A -
89 134532000M 7—AuLCP; R 1
90 134525100M v v FCP 2
9 044098500M Ty ¥ve ;10 2
92 NNF10 T5vVFfuaviy b MU0 2
93 PS040025 ATFY VT 4X25 1
94 WRAO08 ESH¥H X M8 1
95 ONAS6 JJ—=X=y 7NV A M6 2




TCR2200WN, TRB2200WN
Ry b=

13621-2
065-0030-105

RS HEES R e i B =
1 | 1326661004 G-V ICP; Xy b 1
2 055474000M A7 xENVd 88 M8X20 6
3 WRAQ8 ES¥Hx M8 2
4 NSP08 AHNZRATYVIFw b+ 4 M8 6
5 132668400M TV —F7—4CP 1
6 0007220000 =F1 ;12 1
7 131068100M TVYTIWV R 1
8 131069100M TYIN; L 1
9 BSZ08016 amgyRt 7T M8B8XI16 2
10 | BSZ08020 aFyENry T M8X20 2
11 WRAOQ8 ESY¥HR M8 2
12 | NSPO8 AXGRATY)VTFy b+ 4 M8 4
13 1292520000 HRARTY v 7 20kgf 2
14 | WRA10 ESHHRx MI0 4
15 | PC032016 7YEY 3.2X16 4
16 132667100M a—5CP; 1 1
17 1297910000 II9y 2
18 CP06016 +FRaxy M6XI16 4
19 NNF06 75vVFr4avry b Mb 4
20 1349420003 vy —HN—CP 1
21 0333782000 AEY 1
22 WRAO08 ESHAx M8 2
23 NSP08 AHIRATFTY Ty b 4 M8 2
24 | 067122000M FavNv 2
25 CM06012 +43axY M6XI12 6




TCR2200WN, TRB2200WN
Ry M=oY

13621-2
065-0030-105

AES ®Ha&ES # ti 7 B 1
26 | WRA06 ES¥AE M6 6
27 | NP06 A7Y¥IF v+ M6 6
28 | 073438200M | A/8— 4
29 | 0006900000 =¥ . M8x14 4
30 | 1349520000 S Ry b2 1
32 | 1333490000 TAFV—} 1
33 | 1343580004 Y=A4t 2
34 | BSZ10070 aHFNME T MIOXT0 2
35 | NSZ10 afsFyt 8 2va MIO 2
36 | WSA10 NEXFHF 37y MIO 2
37 | ONAS6 7)==y 7NV A M6 2
38 | 1349510000 SNV Ry bl 1




TCR2200WN, TRB2200WN
Ry bPTERY

18
13
065-0030-1056
REs HRES = o i) %L 1% %
1 130925000M Fv¥a VY LN—CP 1| @26t
2 1312140000 Ty ¥a ;50x30 1
3 | BSZ08020 aFyELE T M8X20 1
4 | NSZ08 afy+w b 8 2¥a M8 2
5 000034100M PRI v v a v — ) 1
6 | DCO12 CHZ AT V2 12 1
7 130712000M 7—1 ; A—83 1
8 PS080063 ZA7Y VT 8X63 1
9 130926000M ~)UR R by ¥CP 1
10 | BSZ08020 aByERLE T M8X20 1
11 | 044097200M Ty¥y ;8 1
12 | NSP08 aFIRFY Sy b 4 M8 1
13 | VLA040 VAR LA—40 ALV Y 1
14 | 1114650000 BHEE—-2 1
15 | CP05016 +FNaxY M5X16 3
16 | WS05 NEHFHEX 2% Mb 3
17 | 131080000M E—H—N—2 1
18 | 055474000M hoxELE 88 M8X20 2
19 | 044097200M VERZ L 2
20 | NSP08 AFIRTFYVTF b 4 M8 2
21 | 132670000M Z7Y vy H2.3X11X9%5 1
22 | DE006 EX%+27 6 1
23 | ONB6 JSY—2=y 7NV B M6 1




({14
k=]

S-040901F

#

WMEEMN

@ H M

—

BEXM

M

EEXM

LEXRFh

Gl

H

-~

RERERM

TEEERM

BX W = %5 PR

b ERPR

Il E PR

BEEEXRMM

[ L= R PR

BRAEAE X

# = KR

066-8555

066-8555

070-8004

098-4100

080-2462

086-1152

025-0312

020-0173

985-0845

323-0158

480-0102

700-0973

862-0939

885-0004

FE T LEE®H IO 1 F M
TELO123-26-112
FAX0O123-26-241
FHEmEEREZLI O6 1 F M
TELO123-22-513
FAX0123-26-203

BN TH A% 459 THI3IFE3ILFH
TELO166-61-6131
FAX0O166-62-8985
KEHREEMFE LAY 1191%FH#
TELO162-82-1932
FAX0O162-82-1686

WL E 22 &4 1 THI1I2 Fi#
TELO155-37-3080
FAXO155-37-5187

TR ZEFENALN 2 TH16 % 2
TELO1537-2-2624
FAX0O1537-3-2540

EFEEET _MEE=HE333-1
TELO198-26-5741
FAX0198-26-5746
FEAFHBRABIREBRERS52-3
TELO19-694-1661
FAX0O19-694-1662
EREZESTEHR2 TE4FE27T S
TELO22-367-4573
FAXO22-367-4846

WA R AL WHR2 51 2 -1
TEL 0285-49-1500
FAX0285-49-1560
BMERPRRENREEHEFEEHRI9]
TELO587-93-6888
FAX0B587-93-5416

BILERILT THE704-103
TELO86-243-1147
FAX0O86-243-1269
RRABEBATESEEITH2®H 15
TELO96-381-7222
FAX(096-384-3525

Bl E R AR AL BT 3537 -1

TELO986-38-1045
FAX0986-38-4644

RSN VAR

0

D

T.16. 09. 6S®



